



Ann. Funct. Anal. 10 (2019), no. 4, 509–514  
<https://doi.org/10.1215/20088752-2019-0009>  
ISSN: 2008-8752 (electronic)  
<http://projecteuclid.org/afa>

## A NOTE ON THE PAPER “MATRIX INEQUALITIES FOR THE DIFFERENCE BETWEEN ARITHMETIC MEAN AND HARMONIC MEAN”

CHANGSEN YANG,\* YONGHUI REN, and HAIXIA ZHANG

Communicated by T. Yamazaki

ABSTRACT. In this short article, we mainly give some examples to prove that the main results of Section 4 of the paper [W. S. Liao and J. Wu, Ann. Func. Anal. 6 (2015), no. 3, 191–202] are not true. Then we give the corrected matrix inequalities.

### 1. Introduction

Let  $M_n$  be the algebra of  $n \times n$  complex matrices, let  $M_n^+$  be the cone of positive semidefinite matrices in  $M_n$ , and let  $M_n^{++}$  be the cone of positive invertible matrices in  $M_n$ . For two Hermitian matrices  $A$  and  $B$  in  $M_n$ , we consider that  $A \geq B$  ( $A > B$ ) when  $A - B \in M_n^+$  ( $A - B \in M_n^{++}$ ). For  $A, B \in M_n^{++}$ , the operator arithmetic, geometric, and harmonic means are defined, respectively, by

$$\begin{aligned} A\nabla_v B &= vA + (1-v)B, A\sharp_v B = A^{\frac{1}{2}}(A^{-\frac{1}{2}}BA^{-\frac{1}{2}})^v A^{\frac{1}{2}}, A!_v B \\ &= (vA^{-1} + (1-v)B^{-1})^{-1}, \end{aligned}$$

where  $0 \leq v \leq 1$ . When  $v = \frac{1}{2}$ , we drop the  $v$  from the above notation.

The Hilbert–Schmidt norm of  $A = [a_{ij}] \in M_n$  is defined by  $\|A\|_2 = (\sum_{i,j=1}^n |a_{ij}|^2)^{\frac{1}{2}}$ . It is well known that the Hilbert–Schmidt norm is unitarily

---

Copyright 2019 by the Tusi Mathematical Research Group.

Received Oct. 9, 2018; Accepted Jan. 31, 2019.

First published online Oct. 23, 2019.

\*Corresponding author.

2010 *Mathematics Subject Classification*. Primary 15A45; Secondary 15A60, 26E60.

*Keywords*. arithmetic mean, harmonic mean, matrix inequality, Hilbert–Schmidt norm.

invariant in the sense that  $\|UAV\|_2 = \|A\|_2$  for all unitary matrices  $U, V \in M_n$ . As is also well known, the famous Young's inequality for real numbers is that

$$a^v b^{1-v} \leq va + (1-v)b, \quad a, b > 0 \text{ and } 0 \leq v \leq 1, \quad (1.1)$$

which is also called the  $v$ -weighted arithmetic-geometric mean inequality. The first refinement of (1.1) is the squared version proved in [2],

$$(a^v b^{1-v})^2 + \min\{v, 1-v\}^2 (a-b)^2 \leq (va + (1-v)b)^2, \quad (1.2)$$

where  $a, b > 0$  and  $0 \leq v \leq 1$ . Later, similar to (1.2), Kittaneh and Manasrah obtained the following interesting refinement in [4]:

$$a^v b^{1-v} + \min\{v, 1-v\}(\sqrt{a} - \sqrt{b})^2 \leq va + (1-v)b$$

for  $a, b > 0$  and  $0 \leq v \leq 1$ . Of the many results about Young inequalities presented in recent years, we refer the reader to [3] and [7] for some insightful results.

Related to arithmetic-geometric-harmonic mean inequality, Alzer [1] proved that

$$\left(\frac{\nu}{\tau}\right)^\lambda \leq \frac{(a\nabla_\nu b)^\lambda - (a\sharp_\nu b)^\lambda}{(a\nabla_\tau b)^\lambda - (a\sharp_\tau b)^\lambda} \leq \left(\frac{1-\nu}{1-\tau}\right)^\lambda \quad (1.3)$$

for  $0 < \nu \leq \tau < 1$  and  $\lambda \geq 1$ . By a similar technique, Liao [5] showed that

$$\left(\frac{\nu}{\tau}\right)^\lambda \leq \frac{(a\nabla_\nu b)^\lambda - (a!_\nu b)^\lambda}{(a\nabla_\tau b)^\lambda - (a!_\tau b)^\lambda} \leq \left(\frac{1-\nu}{1-\tau}\right)^\lambda \quad (1.4)$$

for  $0 < \nu \leq \tau < 1$  and  $\lambda \geq 1$ . Sababheh [6] generalized (1.3) and (1.4) by convexity of  $f$

$$\left(\frac{\nu}{\tau}\right)^\lambda \leq \frac{((1-\nu)f(0) + \nu f(1))^\lambda - f^\lambda(\nu)}{((1-\tau)f(0) + \tau f(1))^\lambda - f^\lambda(\tau)} \leq \left(\frac{1-\nu}{1-\tau}\right)^\lambda,$$

where  $0 < \nu \leq \tau < 1$  and  $\lambda \geq 1$ .

In [5], Liao and Wu proved similar inequalities for matrices. By giving some examples, we mainly prove that Theorem 4.1, Corollary 4.2, and Corollary 4.3 of Section 4 in [5] are not true. Moreover, we give their correct Hilbert–Schmidt norm inequalities.

## 2. Hilbert–Schmidt norm inequalities for arithmetic-harmonic mean

In [5], Liao and Wu obtained the following results.

**Theorem 2.1** ([5, Theorem 4.1]). *Let  $X \in M_n$  and  $A, B \in M_n^{++}$  for  $0 < \nu \leq \tau < 1$ . Then*

$$\frac{\nu^2}{\tau^2} \leq \frac{\|\nu AX + (1-\nu)XB\|_2^2 - \|\nu X^{-1}A^{-1} + (1-\nu)B^{-1}X^{-1}\|_2^2}{\|\tau AX + (1-\tau)XB\|_2^2 - \|\tau X^{-1}A^{-1} + (1-\tau)B^{-1}X^{-1}\|_2^2} \leq \frac{(1-\nu)^2}{(1-\tau)^2}.$$

**Corollary 2.2** ([5, Corollary 4.2]). *Let  $X \in M_n$  and  $A, B \in M_n^{++}$  for  $0 \leq \nu \leq 1$ . Then*

$$\|\nu AX + (1-\nu)XB\|_2^2 \geq \|A^\nu X B^{1-\nu}\|_2^2 \geq \|\nu X^{-1}A^{-1} + (1-\nu)B^{-1}X^{-1}\|_2^2.$$

**Corollary 2.3** ([5, Corollary 4.3]). *Let  $X \in M_n$  and  $A, B \in M_n^{++}$  for  $0 \leq \nu \leq \frac{1}{2}$ . Then*

$$\begin{aligned} & 4\nu^2 \left[ \left\| \frac{AX + XB}{2} \right\|_2^2 - \left\| \left( \frac{X^{-1}A^{-1} + B^{-1}X^{-1}}{2} \right)^{-1} \right\|_2^2 \right] \\ & \leq \left\| \nu AX + (1 - \nu)XB \right\|_2^2 - \left\| [\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1}]^{-1} \right\|_2^2 \\ & \leq 4(1 - \nu)^2 \left[ \left\| \frac{AX + XB}{2} \right\|_2^2 - \left\| \left( \frac{X^{-1}A^{-1} + B^{-1}X^{-1}}{2} \right)^{-1} \right\|_2^2 \right]. \end{aligned}$$

In the proofs of Theorem 2.1, Corollary 2.2 (the second inequality), and Corollary 2.3, by using the following equality (2.1), the authors transformed scalar inequalities into matrix inequalities

$$[\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1}]^{-1} = U[(\nu\mu_i^{-1} + (1 - \nu)\nu_j^{-1})^{-1}y_{ij}]V^*, \quad (2.1)$$

where  $U, V$  are unitary matrices such that  $A = U\Lambda_1U^*, B = V\Lambda_2V^*$  for  $\Lambda_1 = \text{diag}(\mu_1, \mu_2, \dots, \mu_n)$ ,  $\Lambda_2 = \text{diag}(\nu_1, \nu_2, \dots, \nu_n)$ , and  $Y = V^*XV = [y_{ij}]$ .

But, unfortunately, (2.1) is not true in general. Next, we give some examples to show these results are wrong except the first inequality in Corollary 2.2.

*Example 2.4.* Let  $A = \begin{pmatrix} 1 & 0 \\ 0 & \frac{1}{6} \end{pmatrix}$ ,  $B = \begin{pmatrix} 1 & 0 \\ 0 & \frac{1}{2} \end{pmatrix}$ , and  $X = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$  for  $\nu = \frac{1}{2}$  and  $\tau = \frac{2}{3}$ . By a careful calculation, we can show that

$$\left\| \nu AX + (1 - \nu)XB \right\|_2^2 = \left\| \begin{pmatrix} 1 & \frac{1}{2} + \frac{\nu}{2} \\ 0 & 1 - \frac{2}{3}\nu \end{pmatrix} \right\|_2^2 = \frac{81 - 30\nu + 25\nu^2}{36}, \quad (2.2)$$

and

$$\begin{aligned} & \left\| (\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1})^{-1} \right\|_2^2 \\ & = \left\| \begin{pmatrix} 1 & -\frac{1}{2} - \frac{5\nu}{2} \\ 0 & 1 + 2\nu \end{pmatrix}^{-1} \right\|_2^2 = \frac{9 + 26\nu + 41\nu^2}{4 + 16\nu + 16\nu^2}. \end{aligned} \quad (2.3)$$

Hence by (2.2) and (2.3) we have

$$\begin{aligned} & \left\| \nu AX + (1 - \nu)XB \right\|_2^2 - \left\| (\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1})^{-1} \right\|_2^2 \\ & = \frac{15\nu - 35\nu^2 - 5\nu^3 + 25\nu^4}{9 + 36\nu + 36\nu^2}, \end{aligned}$$

which implies that

$$\begin{aligned} & \left\| \nu AX + (1 - \nu)XB \right\|_2^2 - \left\| [\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1}]^{-1} \right\|_2^2 \\ & = -\frac{5}{576} < 0, \end{aligned} \quad (2.4)$$

and that

$$\begin{aligned} & \left\| \tau AX + (1 - \tau)XB \right\|_2^2 - \left\| [\tau X^{-1}A^{-1} + (1 - \tau)B^{-1}X^{-1}]^{-1} \right\|_2^2 \\ & = -\frac{170}{3969}. \end{aligned} \quad (2.5)$$

Now, (2.4) and (2.5) imply that

$$\begin{aligned} & \frac{\|\nu AX + (1 - \nu)XB\|_2^2 - \|[\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1}]^{-1}\|_2^2}{\|\tau AX + (1 - \tau)XB\|_2^2 - \|[\tau X^{-1}A^{-1} + (1 - \tau)B^{-1}X^{-1}]^{-1}\|_2^2} \\ &= \frac{441}{2176} < \frac{9}{16} = \frac{\nu^2}{\tau^2}, \end{aligned}$$

which shows that the first inequality of Theorem 2.1 is clearly not true.

*Example 2.5.* Let  $A = \begin{pmatrix} 1 & 0 \\ 0 & \frac{1}{7} \end{pmatrix}$ ,  $B = \begin{pmatrix} 1 & 0 \\ 0 & \frac{1}{4} \end{pmatrix}$ , and  $X = \begin{pmatrix} 2 & 1 \\ 1 & 1 \end{pmatrix}$  for  $\nu = \frac{1}{2}$  and  $\tau = \frac{2}{3}$ , we can obtain that

$$\|\nu AX + (1 - \nu)XB\|_2^2 = \left\| \begin{pmatrix} 2 & \frac{1}{4} + \frac{3\nu}{4} \\ 1 - \frac{6\nu}{7} & \frac{1}{4} - \frac{3\nu}{28} \end{pmatrix} \right\|_2^2 = \frac{2009 - 546\nu + 513\nu^2}{392}$$

and that

$$\begin{aligned} \|(\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1})^{-1}\|_2^2 &= \left\| \begin{pmatrix} 1 & -1 - 6\nu \\ 3\nu - 4 & 8 + 6\nu \end{pmatrix}^{-1} \right\|_2^2 \\ &= \frac{82 + 84\nu + 81\nu^2}{(4 - 15\nu + 18\nu^2)^2}. \end{aligned}$$

So then we have

$$\frac{\|\nu AX + (1 - \nu)XB\|_2^2 - \|[\nu X^{-1}A^{-1} + (1 - \nu)B^{-1}X^{-1}]^{-1}\|_2^2}{(1 - \nu)^2} = -557.977\dots$$

and

$$\frac{\|\tau AX + (1 - \tau)XB\|_2^2 - \|[\tau X^{-1}A^{-1} + (1 - \tau)B^{-1}X^{-1}]^{-1}\|_2^2}{(1 - \tau)^2} = -348.497\dots,$$

which is not true clearly for the second inequality of Theorem 2.1.

Now we begin to prove that the second inequalities in Corollary 2.2 and the two inequalities in Corollary 2.3 are not true. First, by taking  $A, B, X$  and  $v$  in Example 2.4, we have that the inequalities in Corollary 2.2 are reduced to  $2.0069\dots \geq \frac{11}{6} \geq 2.0156\dots$ , which is not possible. Next, by taking  $A, B$  and  $X$  in Example 2.4, then the inequalities in Corollary 2.3 are reduced to

$$-\frac{5}{144}v^2 \leq \frac{15\nu - 35\nu^2 - 5\nu^3 + 25\nu^4}{9 + 36\nu + 36\nu^2} \leq -\frac{5}{144}(1 - v)^2,$$

but the second inequality is not true for  $v = \frac{1}{3}$ . Last, if by taking  $A, B$  and  $X$  in Example 2.5, then the first inequality in Corollary 2.3 is reduced to

$$\begin{aligned} & 4v^2 \left( 4 + \frac{25}{64} + \frac{16}{49} + \frac{121}{3136} - 121 - 16 - \frac{25}{4} - 1 \right) \\ & \leq \frac{2009 - 546\nu + 513\nu^2}{392} - \frac{82 + 84\nu + 81\nu^2}{(4 - 15\nu + 18\nu^2)^2}, \end{aligned}$$

which is not true for  $v = \frac{1}{3}$ .

Now we give the following correct form of Theorem 2.1.

**Theorem 2.6.** *Let  $X \in M_n$  and  $B \in M_n^{++}$  for  $0 < \nu \leq \tau < 1$ . Then we have*

$$\begin{aligned} \frac{\nu^2}{\tau^2} &\leq \frac{\|\nu X + (1 - \nu)XB\|_2^2 - \|[\nu X^{-1} + (1 - \nu)B^{-1}X^{-1}]^{-1}\|_2^2}{\|\tau X + (1 - \tau)XB\|_2^2 - \|[\tau X^{-1} + (1 - \tau)B^{-1}X^{-1}]^{-1}\|_2^2} \\ &\leq \frac{(1 - \nu)^2}{(1 - \tau)^2}. \end{aligned} \quad (2.6)$$

*Proof.* Since  $B$  is a positive definite, it follows by spectral theorem that there exist unitary matrices  $V \in M_n$ , such that

$$B = V\Lambda V^*,$$

where  $\Lambda = \text{diag}(\nu_1, \nu_2, \dots, \nu_n)$  and  $\nu_i$  are eigenvalues of  $B$ , so  $\nu_i > 0, l = 1, 2, \dots, n$ .

Let  $Y = V^*XV = [y_{il}]$ . Then

$$\begin{aligned} vX + (1 - v)XB &= V[vY + (1 - v)Y\Lambda]V^* \\ &= V[(v + (1 - v)\nu_l)y_{il}]V^*, \end{aligned}$$

and

$$\begin{aligned} [vX^{-1} + (1 - v)B^{-1}X^{-1}]^{-1} &= V[vY^{-1} + (1 - v)\Lambda_2^{-1}Y^{-1}]^{-1}V^* \\ &= V[(v + (1 - v)\nu_l^{-1})^{-1}y_{il}]V^*. \end{aligned}$$

Now, by (1.4) and the unitary invariant of the Hilbert–Schmidt norm, we have

$$\begin{aligned} &\|vX + (1 - v)XB\|_2^2 - \| [vX^{-1} + (1 - v)B^{-1}X^{-1}]^{-1} \|_2^2 \\ &= \sum_{i,l=1}^n (v + (1 - v)\nu_l)^2 |y_{il}|^2 - \sum_{i,l=1}^n (v + (1 - v)\nu_l^{-1})^{-2} |y_{il}|^2 \\ &= \sum_{i,l=1}^n [(v + (1 - v)\nu_l)^2 - (v + (1 - v)\nu_l^{-1})^{-2}] |y_{il}|^2 \\ &\leq \frac{(1 - v)^2}{(1 - \tau)^2} \sum_{i,l=1}^n [(\tau + (1 - \tau)\nu_l)^2 - (\tau + (1 - \tau)\nu_l^{-1})^{-2}] |y_{il}|^2 \\ &= \frac{(1 - v)^2}{(1 - \tau)^2} \left[ \sum_{i,l=1}^n (\tau + (1 - \tau)\nu_l)^2 |y_{il}|^2 - \sum_{i,l=1}^n (\tau + (1 - \tau)\nu_l^{-1})^{-2} |y_{il}|^2 \right] \\ &= \frac{(1 - v)^2}{(1 - \tau)^2} [\|\tau X + (1 - \tau)XB\|_2^2 - \|[\tau X^{-1} + (1 - \tau)B^{-1}X^{-1}]^{-1}\|_2^2]. \end{aligned}$$

Here we complete the proof the second inequality of (2.6). Using the same method, we can prove the first inequality of (2.6) easily. So we omit it.  $\square$

To keep concision, here we only give correct inequalities of Corollary 2.2 and Corollary 2.3 in [5] as follows.

**Corollary 2.7.** *Let  $X \in M_n$  and  $B \in M_n^{++}$  for  $0 < \nu \leq \tau < 1$ . Then we have*

$$\|\nu X + (1 - \nu)XB\|_2^2 \geq \|XB^{1-\nu}\|_2^2 \geq \|\nu X^{-1} + (1 - \nu)B^{-1}X^{-1}\|_2^{-2}$$

and

$$\begin{aligned} & 4\nu^2 \left[ \left\| \frac{X + XB}{2} \right\|_2^2 - \left\| \left( \frac{X^{-1} + B^{-1}X^{-1}}{2} \right)^{-1} \right\|_2^2 \right] \\ & \leq \|\nu X + (1 - \nu)XB\|_2^2 - \|\nu X^{-1} + (1 - \nu)B^{-1}X^{-1}\|_2^{-2} \\ & \leq 4(1 - \nu)^2 \left[ \left\| \frac{X + XB}{2} \right\|_2^2 - \left\| \left( \frac{X^{-1} + B^{-1}X^{-1}}{2} \right)^{-1} \right\|_2^2 \right]. \end{aligned}$$

**Acknowledgments.** The author's work was partially supported by National Natural Science Foundation of China grants 11271112, 11771126, and 11701154.

### References

1. H. Alzer, C. M. da Fonseca, and A. Kovačec, *Young-type inequalities and their matrix analogues*, Linear Multilinear Algebra. **63** (2015), no. 3, 622–635. [Zbl 1316.15023](#). [MR1751132](#). [DOI 10.1016/S0024-3795\(99\)00270-0](#). [510](#)
2. O. Hirzallah and F. Kittaneh, *Matrix Young inequalities for the Hilbert–Schmidt norm*, Linear Algebra Appl. **308** (2000), no. 1–3, 77–84. [Zbl 0957.15018](#). [DOI 10.1016/j.jmaa.2009.08.059](#). [510](#)
3. X. K. Hu, *Young type inequalities for matrices*, J. East China Norm. Univ. Natur. Sci. Ed. **2012**, no. 4, 12–17. [MR3025573](#). [DOI 10.15352/afa/06-3-16](#). [510](#)
4. F. Kittaneh and Y. Manasrah, *Improved Young and Heinz inequalities for matrices*, J. Math. Anal. Appl. **361** (2010), no. 1, 262–269. [Zbl 1180.15021](#). [MR2567300](#). [DOI 10.1016/j.jaa.2016.06.027](#). [510](#)
5. W. Liao and J. Wu, *Matrix inequalities for the difference between arithmetic mean and harmonic mean*, Ann. Funct. Anal. **6** (2015), no. 3, 191–202. [Zbl 1391.15069](#). [MR3479605](#). [DOI 10.1016/j.jmaa.2016.03.049](#). [510](#), [511](#), [513](#)
6. M. Sababheh, *Convexity and matrix means*, Linear Algebra Appl. **506** (2016), 588–602. [Zbl 1346.15019](#). [MR3530695](#). [510](#)
7. M. Sababheh and D. Choi, *A complete refinement of Young's inequality*, J. Math. Anal. Appl. **440** (2016), no. 1, 379–393. [Zbl 1339.26066](#). [MR3479605](#). [510](#)

COLLEGE OF MATHEMATICS AND INFORMATION SCIENCE, UNIVERSITY OF HENAN NORMAL, XINXIANG 453007, HENAN, PEOPLE'S REPUBLIC OF CHINA.

*E-mail address:* [yangchangsen0991@sina.com](mailto:yangchangsen0991@sina.com); [2294719246@qq.com](mailto:2294719246@qq.com); [zhx6132004@sina.com](mailto:zhx6132004@sina.com)